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29=99 E50E =5+ £5+VIO £ 5+E8+VIO
ISHILIU=vY 68,000M 129,000M 68,000M 129,000
LRAVY=vy — 67,800M — 133,800M
yEoy=v4 64,800M 70,400M 90,400M 129,800M
HEERY) =Y 6/m:77,400M — — 6/ 155,700M
FULTHI=YY — — 70,400M 145,400
TCBRREFHRERIE 198,000M 298,000M 298,000M 389,000M
B i = 205,000M 294,500/ 280,250 360,000M
II09)=vy — — 75,900M 218,900M
WOTo)=9 165,000 187,000M 187000/ —
mIIERSE EHHRELGL — — —
HBIEFEVI=yy 1[@:19,800M 1[@ : 26,800M 1[@:29,600M 1[@ : 36,600M
BELEBIV=VY 347,600 — 422,400M —
H—FoH=yh 68 :242,000M — — 6[8:297,000M
EQsy=v% 178,000M 228,000M 238,000M 298,000M
S 81,800M — — 395,560M
Ta/Ea—F1—9)=v% — 1[@:22,000M 1[@: 22,000M 1[@ : 24,200M
TILLYY=yY 253,000 308,000M 297,000 341,000
WA=y 189,050 — — _
ST EBH R e, _ _
RREBNE 347,600M — — 518,100M
RES—H1)=yY 1[@: 25,000 13 : 31,000M 13 : 31,000M 1[@ : 35,000M
Yr—rhu=yy 165,000 — — 284,900M
ILATII=vS 198,000M 247,000 247,000M 296,000M
YF739U=y% 141,900 218,900M 213,400M —
ERAE S ERATER RS =y 3[E:168,300M 3M@:171,600M | 3[@:171,600M | 3[@:217,800M
BELERIV=VY 347,600 — 422,400M —
REVATANILG) =Y 3[E: 139,700 3[E:170,500M | 3[@:170,500 | 3[E:201,300M
AFANIEBRI) =l 3M@:178,200M 3@:273,240 | 3[@:246,180M | 3@ :341,220M




YHSTRXI) 9% 198,000M — — 298,000M
T—AREBHEBRER 330,000H — — —
N RIERY)=vY LH5BELGL — — —
BKRER)=vY 2EREGL — — —
BesIY=yy XFAHe | wwens | xwmEne | wrone
BEERIY=ZYH 1[E: 19,800 — — 1[E: 29,800
DDOVVE SRR EY) =V LH5BELGL — — —
IN—ILRFH) =y 198,000M 242,000M 242,000M 292,000M
BETAY) =9/ 264,000 — 334,400M —
Hy=—4 3[A:110,000H — — _
Txl)—=H) =yl 6[a:49,280H — — —
KANNO'A clinic 119,500 168,500 168,500 217,500M
T—ILRED) =9 3[A:135,000M — — 3[E:190,000M
TR =2% — 6[3]: 526,000 — —
KOBEEER V) =vy 264,000M — — —
KR IE 8[a]:429,000M — — _
LF—439)=v9 159,800M — — 199,800
BB =wh 248,000M — — —
ETF9)=v9 6@ :299,970M — — _
N FEARY Y=Y LEREGL — — —
EES A 4[] : 234,000 — — _
ITROSEY)=ZV) LHRELGL — — —
AR 58 8[8]:429,000M — — —
o) =ws 198,000 — — 248,000M
tadd — - - KA B
ENEDRFD) =9 2EREGL — — —
JaHYRE2a—F4—D =Y 287,100M — — 343,200
FTSVINKRBRER 1[E: 104,500 — — —
RKHMHRYRATAYIE1—T4—D) =9 — — — 8[a]:429,000M
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